KEY- Unit 1 Lesson 3 and 4 Quizzes (Practice Test)
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11. Use the rubric below to evaluate total points earned for this item. [max point: 1]
NGSS Constructed Response Answer — 1 Point
FVEnCe] 1n saltwater fishes, osmoregulation is used to remove salt from thir bodics, whilein reshwater fishes it
Mastery | 1504 10 keep 5 much st n the body 25 pssibe
12. Use the rubric below to evaluate total points earned for this item. [max point: 1]
NGSS Constructed Response Answer — 1 Point
‘When there i a problem with one body system, two things can happen. The first i that other body
Evidence | YStems can make up forthe one havineg the problem. For example, if the bone marrow can no longer
vHence ke blood,other organs such asthe speen can actully dotis. Ao, i thece i  poble with one
Mastery | oy system, other body systems may begin o develop problems as well For example, if you do not
'4S(ETY | cat, ot only will the digestive system experience problems, but so will the excretory system, the
nervous system, and the muscular system.
13. Use the rubric below to evaluate total points earned for this item. [max point: 1]
NGSS Constructed Response Answer — 1 Point
Evidence|
of | An animal that s too cold may move to a warmer area.
Mastery
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14. Use the rubric below to evaluate total points carned for this item. [mas point: 1]

15,

NGSS Constructed Response Answer — 1 Point
Evidence] SamPle answer: The ship will be driven off course and damaged by the storm at first. The crew would
idence | v to make adjusments o ke the ship on coursc and repar i A virus can multipy so uickly that
. the body cannot maintain homeostasis at first, but then the control systems will trigger an immune
sterY | response that will kil the virus.
Use the rubric below to evaluate total points earned for this tem. [mazx point: 1]
NGSS Constructed Response Answer — 1 Point
Fvidence | Sample answer: The body's interal controlsystems work together o maintain homeostasis despite
Mastery | changes inintemalor extermalconditions
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